
C-Service 3

Slewing system Ø110-660 / 380°

213002Model:F 111 F

213002 - Slewing system Ø110-660 / 380°

Page 1 of 2 2011-09-30



C-Service 3

942808011  4Cylinder tube Zylinderrohr

942808462  4Piston Kolben

942808003  2Rack bar Zahnstange

942801004  2Step bearing Stützlager

944107005  4Throttle pin Drosselzapfen

942525216  4Throttle ring Drosselring

543323007  4Circlip 30x1,2 Sicherungsring 30x1,2

823561108  4Piston seal Kolbendichtung

823571439  8Locating ring Führungsring

8235520010  4Wiper ring Abstreifring

8236823511  4O-ring 123,42 x 3,55 O-Ring 123,42 x 3,55

8237101712  16Seal ring Dichtungsring

5406031813  2Washer M 16 Scheibe M 16

8237182714  4Seal ring Dichtungsring

9441110315  2Set screw M 16 x 22 Gewindestift M 16 x 22

4560518916  16Socket head cap screw M 12 x 60 8.8 Innensechskantschraube M 12 x 60 8.8

4562522017  48Socket head cap screw M 12 x 70 12.9 Innensechskantschraube M 12 x 70 12.9

9423685718  48Bushing Buchse

9423696751  0Tools for mounting seal Ø100 Werkzeuge für Mont. der Dicht. Ø100

9423698152  0Installation band Ø100 Montageband Ø100

21.300.2  0Slewing system 1 No 111059- Schwenkwerk 1 No 111059-

Kit 94280847 Seal kit Dichtungssatz

823561108  4Piston seal Kolbendichtung

823571439  8Locating ring Führungsring

8235520010  4Wiper ring Abstreifring

8236823511  4O-ring 123,42 x 3,55 O-Ring 123,42 x 3,55

Pos Part No Description EN QuantityDescription DE

213002 - Slewing system Ø110-660 / 380°

Page 2 of 22011-09-30


